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Choose the best choice for each blank.
1) Which word is WRONG for Atatürk?

a) economist
b) statesman
c) commander
d) teacher
e) empheror

2) Announcement: “ TK 1205 Plane from New York _______ . Pessangers can use the gate 5 to go  to customs and take their suitcases from F4 later. “                       
                                                                                               (Customs:Gümrük)
a) have taken off
b) has landed
c) has crashed
d) have landed
e) has taken

3) Which one is NOT a war-related word?
a) enemy
b) wound
c) inspire
d) shell
e) cannon

4) In which country did Amish people move to start a new life?
a) Morocco
b) UK
c) Turkey
d) Syria
e) USA

5) Which sentence is incorrect?

a) She is working here
b) We are making a cake in the dining hall kitchen.
c) City walls were indredibly strong.
d) He does never bring his books to school.
e) It took 53 days to get Constantinapol
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